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Rond 1 Mars
8. Kjell (1N)
6. CGX (20)
5. Gertiel (2N)
3. Bodil (10)
Rond 2

8. Kjell (1N)
2. Ingrid (20)
1. Gittan (2N)
6. CGX (10)
Rond 3 April
8. Kjell (1N)
5. Gertie (20)
4. Ove (2N)
2. Ingrid (10)
Rond 4

8. Kjell (1N)
1. Gittan (20)
7. Karin (2N)
5. Gertie (10)
Rond 5 Maj
8. Kjell (1N)
4. Ove (20)
3. Bodil (2N)
1. Gittan (10)
Rond 6

8. Kjell (1N)
7. Karin (20)
6. CGX (2N)
4. Ove (10)
Rond 7 Juni
8. Kjell (1N)
3. Bodil (20)
2. Ingrid (2N)
7. Karin (10)
Rond 8

8. Kjell (1N)
6. CGX (20)
5. Gertie (2N)
3. Bodil (10)

Syskon
Bodil (3)
Kjell (8)
Gertie (5)
Karin (7)
Ove (4)
CGX (6)
Gittan (1)
Ingrid (2)

Kjell
1. Gittan (1S)
2. Ingrid (2V)
7. Karin (2S)
4. Ove (1V)

4. Ove (1S)
5. Gertie (2V)
3. Bodil (2S)
7. Karin (1V)
Ove
. Karin (1S)
. Gittan (2V)
. CGX (2S)
. Bodil (1V)

wo -~ N

. Bodil (1S)

. Ove (2V)

. Ingrid (2S)

.CGX (1V)
Bodil

.CGX (1S)

. Karin (2V)

. Gertie (2S)

. Ingrid (1V)

oON D W

N O N O

. Ingrid (1S)

. Bodil (2V)

. Gittan (2S)

. Gertie (1V)
CGX

. Gertie (1S)

. CGX (2V)

. Ove (2S)

. Gittan (1V)

A= WN

=~ O O

1. Gittan (1S)
2. Ingrid (2V)
7. Karin (2S)
4. Ove (1V)

Imp +

353
414
418
305
320
365
399
358

36
36
19
19

46
46
45
45

39
39
28
28

43
43
11
11

25
25
25
25

15
15
33
33

59
59
17
17

37
37
19
19

Imp -

380
319
315
428
413
368
334
375

19
19
36
36

45
45
46
46

28
28
39
39

11
11
43
43

25
25
25
25

33
33
15
15

17
17
59
59

19
19
37
37

Kvot
0,93
1,30
1,33
0,71

0,77
0,99
1,19
0,95

VP
170
204
206
147
155
180
197
177

20
20
10
10

15
15
15
15

18
18
12
12

23
23

15
15
15
15

10
10
20
20

25
25

20
20
10
10



Rond 9 Juli
8. Kijell (1N)
2. Ingrid (20)
1. Gittan (2N)
6. CGX (10)
Rond 10

8. Kjell (1N)
5. Gertie (20)
4. Ove (2N)
2. Ingrid (10)
Rond 11 Aug
8. Kijell (1N)
1. Gittan (20)
7. Karin (2N)
5. Gertie (10)
Rond 12

8. Kjell (1N)
4. Ove (20)
3. Bodil (2N)
1. Gittan (10)
Rond 13 Sept
8. Kijell (1N)
7. Karin (20)
6. CGX (2N)
4. Ove (10)
Rond 14

8. Kjell (1N)
3. Bodil (20)
2. Ingrid (2N)
7. Karin (10)

Gertie
. Ove (1S)
. Gertie (2V)
. Bodil (2S)
. Karin (1V)

~N w oA

. Karin (1S)
. Gittan (2V)
. CGX (2S)
. Bodil (1V)
Gittan
3. Bodil (1S)
4.0ve (2V)
2. Ingrid (2S)
6. CGX (1V)

wo -~

.CGX (1S)

. Karin (2V)

. Gertie (2S)

. Ingrid (1V)
Ingrid

. Ingrid (1S)

. Bodil (2V)

. Gittan (2S)

. Gertie (1V)

N O N O
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5. Gertie (1S)
6.CGX (2V)
4. Ove (2S)
1. Gittan (1V)

43
43
22
22

30
30

27
27
49
49

14
14
45
45

22
22
43
43

30
30

49
49
27
27

45
45
14
14



